Working drawing
Softcover A5 landscape

Please provide the PDF in the following format:
total height = 154 mm
total width = 426 mm + spine width (A)

<— Visible area

3 6 6 3
I [ I
3— = = = = = e = = = =3
1 «—— Bleed =3 mm, let the image extend to
. : : the edge.
back ] front .
1AL
E 1 1
2 E £ '8!
o,
25 0 £ 3 -
® WY i | Spine width A
S | (Check calculator for correct size)
1
1
I
1
|
|

=3
Crease = 6 mm, it is not recommended

to place text here.

210 mm > e 210mm ——————>
3— [ _ - - - A - _ |
width 426 mm + spine width (A) = total width
A3—
o
=
9 E
=&
m v
§ -

B B—
w
\

Bleed = 3 mm, let the image extend to
the edge.

Spine width A
(Check calculator for correct size)

Visible area

Crease = 6 mm, it is not recommended

to place text here.

width 426 mm + spine width (A) = total width



